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FDP equivalence Calculate percentage increase & decrease

Percentage change Reverse percentage 

Fractions Decimals↑tagee Increase $720 by 12%.Decrease $600 by 35%.

32/. E = 8.32 728x1.12 680x8.65

60%. 5 =z 0.6 806.4 398

37.5% 3/8 8.375
A car is$7500. The price isincreased

17/ # 8.17 To increase by 52.5X. you by 20%then decreased by 320.Whatis
100 multisly by 1.625 thenew price?

0.5.. 3 0.005 7588x1.2:9880
1000 To decrease by 62.5%. you 9880x0.6 05

2.3%. = 0.823 multisly by 0.375 128
1888

Find the .change: 1730% =36 Jeff has 68 books.
This70%more than

1) $578: $705 7578x100 1V =1.2 lastyear. How many
did he have last

21.97%. 100% =128 year?
2) l2ng, Ong R 110

- 331%.
2) 7.5%=240,000

178% =68

11. =0.4
IV. =32809

3) 128g > 720g 0120210 580%
100% =3200000

188% =48

change 4185
-

orig


